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ENGLISH

Direction: Question consists of a sentence with an underlined
word followed by four words. Select the option that is opposite
in meaning to the underlined word and mark your answer.
The sky is boundless.

High (b)  Vast

Expansive (d)  Finite

Direction: Question consists of a sentence with an underlined
word followed by four words. Select the option that is opposite
in meaning to the underlined word and mark your answer.
He found her extremely attractive and charming.

Unnatural (b)  Modern

Repulsive (d) Disapproving

. ( 3 = 7)) Direction: In the following passage, some words have

been deleted. Select the most appropriate option to fill in each
blank.

Christmas is one of the most famous and light-hearted festivals
which is __ (1)___ across the world by billions of people. People
of the Christian religion celebrate Christmas to __ (2)___ the
great works of Jesus Christ. 25th December is celebrated as
Christmas Day __ (3)__ the world. Christians celebrate
Christmas Day as the birth anniversary of Jesus Christ. Jesus
Christ of Bethlehem was a spiritual leader and prophet whose
teachings __ (4)___ the premise of their religion. People
__(5)__ popular customs including exchanging gifts, decorating
Christmas trees, attending church, sharing meals with family and
friends, and, obviously, trusting that Santa Claus will arrive. 25th
December, Christmas Day, has been a federal holiday in the
United States since 1870.

Select the most appropriate option to fill in blank number 1.

Celebrated (b)
Abducted (d)

Complicated
Protected

Select the most appropriate option to fill in blank number 2.
Order (b)
Remember (d)

Listener
Viewer

Select the most appropriate option to fill in blank number 4.
Ensure (b)
Secure (d)  Figure

Structure

Select the most appropriate option to fill in blank number 5.
Allow (b)
Fallow (d)

Disallow
Follow

Select the most appropriate option to fill in blank number 3.
Aimless (b)  Address
Recess (d)  Across

Direction: Given below idioms/phrases followed by four
alternative meanings to each. Choose whichever is the most
appropriate meaning and mark your answer.

Overstep the mark

To tell people how successful (b)  To step into someone else's

you are areas of expertise

To upset someone by (d)  Todosomethinginan
doing/saying more than you excited way

should

Direction: Given below idioms/phrases followed by four
alternative meanings to each. Choose whichever is the most
appropriate meaning and mark your answer.

Palsy-walsy friends
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Good friends (b)  Friends who help each other

in difficult suituations

Friends by choice, and not by (d)
chance

Unfriendly

Direction: Given below are four sentences in jumbled order. Pick
the option that gives their correct order.

A. The zip on the bag got jammed and wouldn’t open no matter
how hard | pulled at it.

B. We were flying to England for a week.

C. | also remembered that | had put the frequent flyer card in the
carry-on bag hanging around my neck.

D. As we were checking in, | remembered that | was a member of
the frequent flyer programme.

BDCA (b)  ABDC
BACD (d) DBAC

Direction: Choose the option that is the indirect form of the
sentence.
Vandana said,

“p

m being dropped to office today”’.

Vandana said that she (b)  Vandana said that | am being
should be dropped to office dropped to office on that
today. day.

Vandana said she was
dropped to office today.

Vandana said that she was (d)
being dropped to office that
day.

Direction: Choose the appropriate word to fill in the blank.

She was the of all eyes at the party.
pride (b)  limelight
star (d)  cynosure

Direction: In the following sentences is divided into three parts a,
b & c. Some of the sentences have errors in one part and some
have none. Find out which part of the sentence has an error.

My sister and her husband (a) / broke out (b) / When they heard
the bad news. (c) / (d) No error.

(a) (b) (b)
(c) d (@

Direction: Select the most appropriate synonym of the given
word.

Abscond
Flee (b) Come
Evict (d)  Remain

Direction: Select the most appropriate synonym of the given
word.

Persecution

Perfection (b)
Stimulation (d)

Affliction
Oppression

Direction: In the following question, out of the given
alternatives, choose the one which can be substituted for the
given words/sentence.

An imaginary ideal society

Model (b)  Ultimate
Utopia (d)  Flawless
Choose the correctly spelt word.

Asspersion (b)  Voluptuous
Voguei (d)  Equestrain

Direction: Choose the option that is the active form of the
sentence.
The politician’s speech was loudly cheered.

The audience cheer the (b)  The audience was loudly
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politician’s loud speech. cheered by the politician’s

speech.

The audience had been
loudly cheered by the
politician.

The audience loudly cheered  (d)
the politician’s speech.

Direction: Choose the appropriate word to fill in the blank.

A of seagulls flew over the ship screeching raucously.
drove (b) fleet
bunch (d) flock

Choose the miss-spelt word.
Fatuous (b)
Mortury (d)

Obituary
Congress

Direction: In the following question, out of the four alternatives,
select the alternative which will improve the underlined part of
the sentence. In case no improvement is needed, select “No
improvement”.

Sneha agrees that her older brother is much clever than her.

her older brother is much (b)  herelder brother is much
clever to her clever to

her elder brother is much (d)  Noimprovement

clever than

Direction: In the given question, a part of the sentence is made
bold. Below are given alternatives to the bold part at (A), (B),
and (C) which may improve the sentence. Choose the correct
alternative. In case no replacement is needed, mark (D) as your
answer.

The accumulated dust on the furnitures indicated that the family
were long gone.

furnitures indicated thatthe  (b)  furnitures indicated that the

family were family was
furniture indicated thatthe  (d)  No replacement required
family was

Direction: Given here are four sentences. The first sentence is in
the correct order. Pick the option that gives the correct order.

A. In the late 1930s, American foreign policy in the Pacific hinged
on support for China, and aggression against

B. China by Japan therefore necessarily would bring Japan into
conflict with the United States.

C. As early as 1931 the Tokyo government had extended its
control over the Chinese province of Manchuria, and the
following year

D. the Japanese cemented their hold on the region with the
creation of the puppet state of Manchukuo.

ABCD (b)  ACBD
ADBC (d) ADCB

Direction: In the following question, out of the given
alternatives, choose the one which can be substituted for the
given words/sentence. The extreme fear of time or time passing
Cellophobia (b)
Chronophobia (d)

Claustrophobia
Centrophobia

Direction: Fill in the blank with a suitable adjective from those
given in the options.

Tammy is than Ashish, even if Ashish is very muscular.
heavy (b)  more heavy
heavier (d)  heaviest
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[ REASONING ]

afe a1 34 v, B BT 3 -, ¢ BT 3+ qUT D BT 3
B, A Frafafaa % 3 o9 ar afievo adl 82
If 'A' means '+, 'B' means '-', 'C' means '+' and 'D' means 'x', then
which of the following equation is correct?
5D14C28A12 = (-2) (b) 22D2C4A11=33
56C28D17B36 = (-2) (d) 14D2B18A19 =6

fordw: fow e eepfa & R ioi 91 Wi wa Pifvrel

Direction: Find the number of triangles in the given figure.

VAYAYA

16 () 20
24 d@ 32

Pt witewor & @t + fogl o ufownfia w33 & foag
fgl & Fufafea d @ 5w wq=a 1 3w fear s
ifge?
Which of the following sets of signs should be used to replace *
in the following?
7*¥8%6=225*9*25
X -3+ (b)
X - (d)

1 9FaRt 2018 B WHAR 411 R 1 S 2019, 39 &

LEGIES

It was Monday on 1 January 2018. Then 1 January 2019, falls on:
TITTAR Tuesday (b) dUYdRWednesday

=dRthursday (d) UFARsaturday

I3 faded &1 999 Siforg, 5t €1 15 snpfa & quur yfafda &
fArpear & ia @rar 8, 99 giur 1 918 SR 3@ T 211
Choose the option that most closely resembles the mirror image

of the given figure when mirror is placed at left side.
BERICE d

?.V}s

« |
s I s

SRl eI & AR FFafiafad vl & sgafRa s
Arrange the following words according to the English dictionary
arrangement.

(a) peremptory

(b) perceptible

(c) perceptual

(d) perforation

(e) percentile

(), (c), (b), (d), (a) (b)  (e), (b), (c), (a), (d)
(), (c), (b), (a), (d) (d) (e, (b), (c), (d), (a)

& € IR arpfadl A |, I APl 19U FIRA e
vy amepfar Rty siaffga 32

From the given answer figures, select the one in which the
question figure is hidden/embedded?

X+ X+

+ XX+

(b)
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(a) (b) (c) (d)
a (b) b
c (d d
o Fafafed vy A fig T el & & W&fta e &1
TA B
Direction: In the following question, select the related numbers
from the given alternatives.

T et | R welta gt @1, T e % g T frseef &
J B I HYI BT AMDD U F I BT gl
DY:
PO PIS URCHIS g

TO B1S e &
mﬁﬁmﬁ?rﬂﬂ’r%l
o
1. O P fRABTh &1
Il. PO TREHTS HIAT 3|
. S PTS HIUT §1
Read the given statements and conclusions carefully. Assuming
that the information given in the statements is true, even if it
appears to be at variance with commonly known facts, decide
which of the given conclusions logically follow(s) from the
statements.
Statements:

62:155::58:7 Some cards are postcards.
(@ 131 (b) 148 Some cards are envelopes.
(c) 145 (dy 256 All envelopes are copies.
Conclusions:
34. ﬁ%{’l: TDh DdIT *» : Eal o uy Gl'lm ] E'QTﬁ'{ ™ |. Some copies are envelopes.
ITHR TST STaT § 3R 390 B¢ fobar Sirar 81 Wiaa & 91 II. Some postcards are copies.
agm-w m%wmwy 11l. Some cards are copies.
Direction: A piece of paper is folded and punched as shown (a) Fad Ay | 3R ST (b) Fad s 1 3R
below in the question figures. From the given answer figures, aﬂ?{% Only conclusions | &Waﬂﬁ% Only
how will it appear when opened? and |l follow conclusions Il and Il follow
' © HadHY | SO TRAT  (d)  Had By | 3R
_T’ 3 /o\ %Only conclusion | follows &Wm% Only
conclusions | and Il follow
A A 39. o=t FrafefEa vy & Ry ¢ fawedl # @ weifta @ &1
(@) (b) TA BN
Direction: In the following question, select the related numbers
from the given alternatives.
(c) (d) 86:62::49:?
@ 29 (b) 49
35. Xe, Frﬁ"l'ﬁ?ﬂ%lFr,Za'\QﬁaT%H%IGrZaWaET%IFr,Gr'\q () 35 (d 42
FA TElRa 32
Xe is father of Fr. Fr is married to Za. Gr is son of Za. How is Fr 40. TP Hc HMHI ﬁ, qﬁ SECRETE ! 1922318222022 & =7 H
related to Gr? fRraT wTar 8 SR SoUND Pt 19126144 F ¥ | foRaT SITaT B,
(@)  Ha Mother (b) TR Father A NoIsE I UTaT H B foram wTam?
(© 1) |rar ar e either (d) 'J-I'Ié Brother Ina codfe Ian.guage, if SECRETE is written as ]..922318222022.and
mother or Father SOUND is written as 19126144 , then how will NOISE be written
in the same language?
36. fAd=n: fFafafEa fear mar aifiewor maa 31 gfieror &t (8) 1312181920 (b) 141514195
T B F e fora < Hahal &1 IRER J9Y ST AR (c) 1412181922 (d) 1415182922
Direction: The following equation is incorrect. Which two signs . !
should be interchanged to correct the equation? 41. ﬁqmﬁmﬁﬁﬁwa{&nwmmaﬁl
18+2x4+10-2=25 Find the odd letter pair from the given alternatives.
(@ +3MW-:and- (b) +3R ++and+ (@ HiuL (b) QEM
€ -3R+-and+ (d) x3R-xand- () zow (d) TEAP
37. firaT ok Uz &t o oMy (@ H) BT U 15:8 ¥1 T: a6 42. e @ &1 3 ST, "% BT 3 O, ' BT 31 WRT SR
UG, IADT 3TY BT ATUTA 13:6 AT FaT A adar amg 7 w &1 3 e B, @ FmfifEa aiwie &1 919 g SR
%? If '@' means 'addition', '%' means 'multiplication’, 'S' means
The ratio of the present ages (in years) of father and son is 15:8. 'di"iSi?"' and '# means ‘subtraction’, then find the value of the
Six years ago, the ratio of their ages was 13:6. What is the following expreusswn.
present age of the father? 29@128516%7#22
(@) 459§ () 58T¥ @ 47 (b) 58
45 years 58 years © 63 @ 23
() esad (@ 7z 43. fdw. Frafafea sear & yyams g +» & /A w a
65 years 78 years SITETT?
. Direction: What should come in place of the question mark '?' in
38. %Q' Ry 37 Gﬁ?' e &t W "TI%'({I R A &8¢ the following number series?
T & 7€ THER 9d 3, Yd € 98 9 w9 7,9,13, 21,37,
(& 58 (b) 63
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69 (d 72
= FafafEa gy & uyaes fug » F " R |0
3TT?

Direction: What should come in place of the question mark '?' in
the following number series?

5,9, 10, 28, 17, 65,

32 (b) 26

78 (d 93

frdw: o g@er § 1€ 8, ord e ug qw 81 Ry ™
fawedl & & 39 U fiwed &1 9g+1 SIM, St f@ar & @1
B

Direction: A series is given with one term missing. Select the
correct alternative from the given ones that will complete the
series.

ABC, EFG, K, ?, QRS

KLM (b) MNP

MNO (d) LMN

fréw: oo e § ¥ 3, o @ ug qw g1 iR ™
wﬁﬁwwmmmaﬁﬁlﬁ,ﬁmﬁw
|

Direction: A series is given with one term missing. Select the
correct alternative from the given ones that will complete the
series.

DKY, FIW, HIU, JHS, ?

LGQ (b) KGR

KFR (d) LFQ

o Pt vy snefa @1 gdu ufafda wra ot

Direction: Find the mirror image of the following question figure.
Uy 3rpia
Question figure:

E

ST STPfa:

Answer figure: o -

=] [ [E] [d]

) ®) (@)
© @ ()

TS He UTHT & sKILLS BT HPROOH & =0 | forar wirar 31 39
UTT H pLACES H feraT wimeam?

In a code language, SKILLS is written as HPROOH. How will
PLACES be written in that language?

KOZXVH (b)
LOZXVI (d)

%ﬁaﬁmﬁlﬁﬁﬁﬁﬁ?laﬁqwa&wn%m

KOBXVG
KPZXUH

Four positions of dice are given below. Which letter is opposite
to D?

B E C D
c |A A € p [E c |B
i i ii iv
©) A
B d c
=1 39 amvE &1 yga BIfvi s = fRRe e avif & d=
Y B T 95X &7 4 ST &:
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A9, B, Fam

Direction: Identify the diagram that best represents the
relationship among classes given below:

Apple, Fruit, Banana

000
e3y)

(b)

(d)

[ Quantitative Aptitude ]

U a%g $T fApa Yeu 144 IUT g1 T @1y wiarsra avg o1
Y Y & SRR §, A I B 60 oI FT 32
The selling price of article A is Rs 144. If the profit percentage is
equal to the cost price of the article, then what is the cost price
of the article?

80 (b) 60

90 (d 120

TP O S I7V 9 & 1T Fa 3T BT 40% W BT
BT §1 39 150 i Arad & 8 98 50 3T A =il g war
B 3iftrpan i F §?

A student has to obtain 40% of the total marks to pass. He has
got 150 marks and has failed by 50 marks. What are the
maximum marks?

500 (b) 550

480 (d) 520

i AT BT T@AT 161x208, 11 A fIUTT & 3R TR-3iBIT
TWAT 953y, 9 A FAUTST B, A (x + y) FTHF FAT?
If the seven-digit number 161x208 is divisible by 11 and the four-
digit number 953y is divisible by 9, then what is the value of (x +
y)?

7 (b) 8

10 (d 12

i B aTa PR 45— 36— {29 - (25 -7+ 4)}].

Simplify the expression 45— [36 — {20 - (25 - T+ 4)}].

24 (b) 22
26 (d 28

Tfg 24 At B iR 48 At Fog & U wifas zigp o
fraremar T § iR 3 6 At B ard F unfae ma A
TG SITaT 8, ) TR Tl &1 H= Jid S|

If a metallic cone of radius 24 cm and height 48 cm is melted and
converted into a metallic sphere of radius 6 cm, find the number
of such spheres.

32 (b)y 42

48 (dy 24

4 4 2
sin*z 4+ 2cos*x = %,
afg 3" A sec? xPTHF FATR?
2 (b) 3
1 (dy 4

i 9 W TP 919 B i YR BT A0 F 316 AT 71 A
BRT YRT & 3w a 315 farht 3R urT & ufaga 385 frht
T 99 B | 18 U BT THY AT g1 1, A1 Bl URT B
3T 225 foH B g8t 7 A | fpa= awg w@Rm?
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The speed of a boat in still water is eight times the speed of the
stream. The boat takes 18 hours to cover a distance of 315 km
downstream and 385 km upstream. So, how much time will the
boat take to cover a distance of 225 km downstream?

4?%/hours (b) Sgi%/hours

9?%/hours (d) Ggi%/hours

= i & 7 SR @1 g Fifee ok fFafefad
Y BT IR Siforg|

fafafae Yar e uiw wial @ Riféa ok af¥ifaa
RIS Y gRIfaT 81
T TTEGT = AR TGS + FRER S8
T F A
-a- g —— e

1600
1200 - —o—
1200 =
/ -
1000 !/
L 5
B bl u \’//'
-~ d
P—
6040 S
w0
00
0

M [T} P [+ R

™ el 1 "1aR R FReR wMRien & 99 SR 3id
Fifrg|

300 (b) 550

750 (d) 400

TS AR 2.5% U U F R A po AN BUrwR Aar 31 afg
Ig 3MUHT THTUT HH B & AT 6 TS & 16 13110 FUY BT
YA FRal g, df afed gRT YA $1 T8 a1 $t A0
I B

A person borrows some amount at the rate of 2.5% per month. If
he pays Rs 13110 after 6 months to reduce his outstanding, find
the amount of interest paid by the person.

1840 ¥ Rs 1840 (b) 1690 UL Rs 1690
1710 T Rs 1710 (d) 1660 T Rs 1660
Tw iR 35 e A 455 Hex &t gt R Frar 31 fedt ufa
He A @t Mfa w2

A man covers a distance of 455 meters in 35 minutes. What is his
speed in km per hour?

0.52 (by 095

0.62 (d) 078

= R fow 7T wy &1 3w A F fore FRufafaa urd =
BT ATYAD SHTTT B |
%@m@m‘f%uﬁ:’m—aﬂmﬂ‘rmm—m@a@aﬁ

Tydfed iR fawm ol w3 arat Raenfeal &1 srqura w1 82
2:1 (b) 43
5:1 (d 72
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0 g aTel Ueb g & aTe T fig p & Wieft 5 vop vl
PT 4 &1 g Q W W &=t 31 3¢ pa = 30 FFft iR g@ &1
T 32 A1 §, Y op P TS FATR?

A tangent PT drawn from a point P outside a circle with center O
touches the circle at point Q. If PQ = 30 cm and diameter of the
circle is 32 cm, then what is the length of OP?

32 (b) 38
34 (d) 36

% gufgarg Bys ot aRkfY ok &t gue yoei & @ we
PHT: 72 cm 3N 20cm & | AYS F1 &TFA &

The perimeter and one of two equal sides of an isosceles triangle
are 72 cm and 20cm respectively. The area of the triangle is:

124 7 QA 124 squarecm  (b) 145 i et 145 square cm
160 I QAT 160 squarecm  (d) 192 i et 192 square cm

Ife thaT &) HHT: TH & axg R Fafar, Sier ok farar @
wﬁ;wso%, 20% 3N 10% B ge Fadl & @ aafds ge
FTE?

A person borrows some amount at the rate of 2.5% per month. If
he pays Rs 13110 after 6 months to reduce his dues, find the
amount of interest paid by the person.

1840 TUY Rs 1840 (b) 1690 FUY Rs 1690
1710 TUT Rs 1710 (d) 1660 UL Rs 1660
1 _ 1 1
qﬁm+§_3?y+;_23ﬁ? 2:4—?—4
1
TYz + —
g Y TVE pram g S|
15 () 25
10 @ 20
3 Ol & ATIAT 27: 64 & 3UTd H §1 3P Tag! eFAwal
BT 3UT

The volumes of two cubes are in the ratio 27 : 64. The ratio of
their surface areas is:

3:4 (b) 4:3
16 :3 (d 9:16
sin"'z +siny=5F 1 )
afe dr CosTTT +CosT Y gr
HTE?
n/2 (b) /4
/6 (dy n/8

gfda-b=3 3R a’-b>=2798, @ a’ + b* BT UM FA B2
If a—b =3 and a’ - b? = 279, then find the value of a* + b*?
317 (b) 407
297 (dy 502

A:B—7:3 ABE

gfg A-B A a s
3/4 () 4/3
7/3 d 3/7

A BT I YEIT e 88 aif At §1 Sa @1 Bsar e
PSS A 8.6 FH 71 9a1 B SR A B B F S a1
SUT 2 : 3 ¥ 1 A BT T [T PHfTC

The curved surface area of the cylinder is 88 square cm. The
radius of the cylinder is 8.6 less than the height of the cylinder.
The ratio between the radii of the cylinder and the radius of the
sphere is 2 : 3. Find the volume of the sphere.

32 99 9HY 32 cubic cm (b) 39 1 94t 39 cubic cm
41 97 Y 41 cubic cm (d)y 46 1 Y 46 cubic cm
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SCHOLARS ACADEMY

faddspiafad2:

Which of the following is not a perfect square?
1250 (b) 16641
2025 (d) 9801

. s &1 WY sreaa Fifvre oiv fFrafafea
Tl & IR R
T 3T 2019 3R 2020 H 4 HUFGY GRT AT TE ISP BT
=T P AT gl

W 2019 02020
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& gz AT gy
2020 ¥ R 3R Fdied &) frae? 3= oA arelt a1t &1
3N¥d 3R 2019 # BIST 3R rHTET ) free: =it 9 arelt
TSP P 3T BT 3R FTR?
150 (b)y 100
70 (d) 50

T fyyurg ® T SR T 3:4 & Srura B § 1 gl fArgeng
T T 3R qieT 5:3 & 3uTd A §1 3¢ foby argura o foraman
$mﬁmmﬁmﬁﬁﬁﬁmmsz4
?

An alloy contains gold and copper in the ratio 3:4. In the second
alloy gold and copper are in the ratio 5:3. In what ratio should
they be mixed so that the ratio of gold and copper in the final
mixture we get is 5:4?

17:32 (b)y 9:16

71:128 (d) 35:64

TP FI P 313 UG Th HerIdl 19 H 1000 7= Ul T
P fRAT9 | o B | FTd DT A& 3Nd S (31 BT
fram®?) A 500 ¥ SifIw G HRAT ]| A9, e FRTH BT
TERBI

Eight members of a club donate Rs 1000 per member to a relief
fund. The club president donates Rs 500 more than the average
donation (including the president). Then, the amount donated by
the Chairman is.

1062.5 & Rs 1062.5 (b)
562.5 % Rs 562.5 (d)

20 3T 3R 15 TSP UH PH BT 10 G A PR APA €1 25
oY 3MX 10 TSP 39 9 Al ¥ &Y TPd §1 TP ATl gRI
1T 1T 3 P | TF Ted TRT Y MY 3 e B
SUTd JTd BT
20 men and 15 boys can do a piece of work in 10 days. 25 men
and 10 boys can do it in 9 days. Find the ratio of the daily work
done by a boy to the daily work done by a man.

5:12 (b) 5:14

125 (dy 145

1562.5 ¥ Rs 1562.5
2062.5 3 Rs 2062.5

[ General Awareness ]

e AR BT T [T IR o7 At | @2

Leela Samson is associated with which classical dance form?
HIJATSIH Bharatanatyam (b) W Kuchipudi
Infedt Odyssey (d) HYHT! Kathakali
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o = FuieR) B iR & e w39 & g 8 R
MY, I T ATl 4TI
Military commanders who were given territories to govern in
Vijayanagara were called:

(b)  SMERAmirs

gTHRayas
Gqﬂaaﬁﬁﬁs‘:@ None

STHRI-TI® Amara - (d)
Nayakas of the above

WHR PM WUTH FISHT IR HIA Bt AT 91 IE 31 T8
fFrafafaa o 3 fra qe, S wafia @2

The Government is Planning to Launch the PM PRANAM Scheme.
It is related to which of the following issues?
IS W BITATEH (b)) ol b AAIBRONT Hd &
AT Reduce the use of Waﬁmﬁ
chemical fertilisers Promote the use of

Renewable source of energy

Y TGOl 1 BT Reduce
the pollution from coal-
based power plants

U FasHEHE e p A fRa e

The Palk Strait lies between the countries:

sficiepT 3R HTAEIE Sri Lanka (b) HRd 3R #fiefpT India and

gofded Al Bl S (d)

Promote electric vehicles

and Maldives Sri Lanka
YR R AAEIT Indiaand  (d)  SSFIRMAT R AT
Maldives Indonesia and Maldives

FafafEa & & o= a1 verd FaRkE 9 & "y sififear
PP TP 3= Uerd SHTaT 8 o U F ga-i=ie gar @ iR
T wielty fyerae fagga &1 wara- swar g2

Which of the following substances will react with chlorine gas to
form another substance that is soluble in water and its aqueous

solution conducts electricity?
Rfer®i silicon

HehR Sulphur (b)
1j'cb—ls_c'Graphite (d) iR Magnesium

e e gaeie (Tasieng) frad grT yeilRE fear
ST g?
The Human Development Index (HDI) is published by the

3% Sdworld bank (b) guASH UNDP
ST G DIV IMF (d) RIS NITI Aayog

YR = HY WY Wifd SFP] S AR WA TR UNSC &
UETd & Ue ¥ HagH far g1 {59 31 A uwara &1 wier
R fare

India has voted in favour of a UNSC resolution on the mental
health of UN peacekeepers. Which country initiated the draft

resolution?
DfRIBT Mexico (b) SABT UsA
tha%’ Poland

ST Brazil (d)

foelt wifkr Y arfewy Ay et o @ afe a8 G we R
_ sruRvRa e 3

A quantity is said to be scalar if it is completely defined by its

Had 3B TRHTT (b)  Had D! I direction
magnitude only only

TG URATT SR M (d)  Had $HP THR shape
both magnitude and only

direction

T Uid & Siford Ta-R-o R 3R IR U F Ugd IR
THHAafE A g I UR
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The last governor-general of the United Province and the first

governor of Uttar Pradesh were the same person. Who was he? 95, ﬁ'aﬁl'@a ﬁ' ﬁ ﬂﬁ:[ ?ﬁ Th ﬁ"fl‘qﬂT sﬁ?ﬂﬁlﬁ godid aﬁ
@@ IS ke ustice (b))  PoaTTd VT it [ERLCIEHE
B.B Malik Kanhaiyalal Maneklal Munshi Which one of the following features is not a feature of the
. industrial strike?
© WAREMTRSICs  (d) g fRierre At " . _
Maurice Garnier Hallett Hormasji Pherozeshah Modi (@ WWWWW (b) TRl Pl o B D
Af3rd 7 o udhgled gt fore e wHfew wrf A
85. Hmﬁwﬁ@mﬁﬁsﬁ@n Yr? B A collective act involving a collective act to express
When the Bundela Rebellion take place in Madhya Pradesh? certain amount of solidarity grievances
(@) 1942 (b) 1842 () TP PIfHb gRIBH d) i dud &1 e
() 1930 (d) 1830 Y hdMIThe stoppage of fafafird =9 A regulated
work by a worker form of industrial conflict
86. frafifaa & & o= |1 IR PR 32 _ !
Which of the following is a gallantry award? 96. ‘-ﬂ??ﬁ'q'ﬂﬁﬂ'ﬁ Y DR Gim frafafaa # § 59 few
(a) SHIATHM Igbal Samman  (b) KO REBR LELEERICIEY
Dronacharya Award The Fourth Schedule of the Indian Constitution tells about which
. i
(c) TRHIR °h Paramveer (d) HRAdId Bharat Ratna of the following option? .
Chakra (2) T BT Salaries of the (b) T 3R 3P & Union and
Member its Terreritory
87. fafufaa & @ s-a1 &7 URd &1 Fafafaear sifaa o1 € ITIEMIECI PG (d) STHYPIS ol None of
yRfRE s e Allocations of Rajya Sabha these
Which of the following region in India represents a Biodiversity Seats
Hotspot? . 9]
() U A western (b) Al ©Te Eastern Ghats 97. T T ﬁﬂ 'aﬁ“{" Iy g 3t wior & fere forw Aiiéae
Himalayas gv_uﬁ&?l SfTell %?
© II?HW(WW) @ T °TE Western Ghats Which shortcut key is used to find a particular word in a Word
?
Central Plateau document
(@ CTRL+S (b) CTRL+F
88. THTH UHIH (MS Excel) DT PIgd TaHexH fAgferaa # 9 (c) CTRL+R (d) CTRL+Y
PIT-ATR? P 3
Which of the following is the file extension of MS Excel? 98. LK | dTe- CaRIE] @Wﬁ’_{" SITgT?
@ wlsx (b) ols Which of the following Vehicles will be Exempted from the
’ o Green tax, recently announced by Ministry of Road Transport
© e (d) exis and Highways?
(a) fooreh I oM ardt ares (b) eSh, TAATA IR Terdrsit
90. Prafufadda R e Hiurel ¥ 1 & ST oirar Ur Electric vehicles e e a1 oG,
Who among the following was popularly known as “Surma ethénol and LPG fuel based
Bhopali”? Vehicles
() I a¥f Manik Verma (b) @A TEN Rahat Indori () WAHHAM AT Farming (d)  SORIGT GHT Al of the above
vehicles
(c) SIEIU Jagdeep d) d=ary 7t Radheshyam
Sharma 99. UfERre I frer fPaTa A fRER?
The Historic Chandragiri Fort is situated in which State?
91. AP YD RIIE U a3 o2 . _
The Book of Thel is a poem composed by . @ S Andhra Pradesh () Tamil Nadu
(a) S fiee John Milton (b) Wshakespeare © JIRES Jharkhand @ GRIY Maharashtra
(c) fafcram =& william Blake  (d) j@a@f@?tﬁquxander 100. BwWr fay Yefife NIRRT F L EE 5 t@ﬁ IS TER
ope YR 7oy dsfiie farst s 82
. g Who is the first Indian male badminton player to reach the final
92. R F1er A Rrei F1 TR RIS F UT: : o
f BWF World Badminton Ch hips?
The most famous centre of learning during Maurya period was: (@) °a5 . o:; s i an on am:)bu))ns s b "
. . a ‘5] PId K. Srikant EI?;EI@i HRYY Parupalli
(@) a&m Taxila (b) I=H Ujjain Kashyap
© T Nalanda @ el vallabhi (c) 1V'IT%H;I'UﬁT‘T Sai Praneeth (d) ?qu%ah‘{ Nandu Natekar
93. YR T UgAl TRRWIR Rod H a1 32
Which is India's first biosphere protected area?
(@) a1 ¢dt Nanda Devi (b)  Y&IE sunderban
(c) Fraff Nilgiri (d) Je fAPIER Great Nikobar
94. IRR/AIRAY &1 fFufafaa & F #1991 4rT IRR & arou=
P gATE IGAT &2
Which of the following parts of the body/glands maintains the
body temperature?
(a) Wﬁ(m) Thyroid  (b) tﬂq\f@lﬂ)—l( ﬁagai ) Pituitary
) SifIga® (UfgTd) Adrenal  (d) 32T (BRUAAHY)
Hypothalamus
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